9B 2004 - GEOMETRY I

11th March

Give full reasons for all your solutions.

1. (a) ABC is a straight line. Find z.

(¢) Given AB || CD and LCGH ="70°, find LEFB.
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(d) Find z,y and z given AC || ED.
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2 . Geometry I

9. Complete a proof of the Exterior Angle of a Triangle Theorem.
ABC is a triangle with side BC produced to D. Let ZA=c and /B = .
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AIM: To prove ZACD = o+ f.
CONSTRUCTION: ...
PROOF: ... .

3. Prove the base angles of an isosceles triangle are equal. Complete:
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ABC is a triangle with AB = AC.

AIM: To prove LB = LC.

CONSTRUCTION: Let the bisector of zd meet BC at X.
PROOF: In triangles... LA S

4. (a)
130°

Find z.




Geometry I

(b)

A

D is the midpoint of BC, DE L AB, DF 1 AC and DE = DF. LABC = 40°.
(a) Prove ADEB = ADFC.
(b) Eence find /C.
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